Label: Loop
exit NP2 "y loop - ARX

end loop label ;

loop
A(i)<="0';
i:=i+1;
exit when i>10;

end loop;

label:  for variable in range loop
mmpPs;
end loop label ;

for 1 in0to 10 loop
AG)<="0';

end loop;

label: while condition loop
mmpo;
end loop label ;

While 1 <10 loop
A() <="0';
i:=i+1;

end loop;
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LOOP nx717 niy¥xnxa

ENTITY loop 1 IS
PORT( d : IN BIT VECTOR (9 DOWNTO O0);

g : OUT INTEGER RANGE O TO 10);
END ;

ARCHITECTURE arc_count OF loop 1 IS
BEGIN
PROCESS (d)
VARIABLE i, num bits : integer range 0 to 10;
BEGIN
i:=0;
num bits:=0;
LOOP
IF d(i) = '1' THEN
num bits:=num bits+1;
END IF;
i:=14+1;
exit when (i>9);
END LOOP;

g<=num bits;

END PROCESS;
END;

for NX'717 NnIY¥nXxa

ENTITY count 1 IS
PORT( d : IN BIT_VECTOR (9 DOWNTO O0);

g : OUT INTEGER RANGE O TO 10);
END ;

ARCHITECTURE arc count OF count 1 IS
BEGIN

PROCESS (d)

VARIABLE num bits : integer range 0 to 10;
BEGIN
num bits := 0;

FOR i IN O to 9 LOOP
1 1

IF d(i) = '"1' THEN
num bits := num bits + 1;
END IF;

END LOOP;

g <= num_bits;

END PROCESS;
END ;
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ENTITY while 1 IS
PORT( d : IN BIT VECTOR (9 DOWNTO 0);
g : OUT INTEGER RANGE 0 TO 10);
END ;

ARCHITECTURE arc_count OF while 1 IS

BEGIN
PROCESS (d)
VARIABLE i, num bits : integer range 0 to 10;
BEGIN
1:=0; num bits:=0;

while i<10 LOOP

IF d(i) = "1' THEN
num bits:=num bits+1;
END IF;
i:=14+1;

END LOOP ;

g<=num bits;

END PROCESS;
END;
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entity xor 4 is
port( A : in bit_vector (3 downto 0);
F : out bit);
END ;

architecture arc xor of xor 4 is
begin
process (A)
variable temp: bit;
begin
temp:='0";
for i in 0 to 3 loop
temp:= temp xor A(i);
end loop;

F <= temp;

end process;
end ;
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entity and or is
port ( A : in bit_vector (6 downto 0);
F : out bit);
END ;

architecture arc of and or is
begin
process (A)
variable temp: bit;
begin
temp:="'1";
for i in 0 to 6 loop
if(i < 4) then temp:= temp and A(i);
else temp:= temp or A(i);
end if;
end loop;

F' <= temp;

end process;
end ;
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entity comp 2 is
port( A : in bit_vector (7 downto 0);
B : out bit_ vector (/7 downto 0));
end;
architecture arc of comp 2 is
begin
process (A)
variable temp: bit;
begin
temp:='0";
for i in 0 to 7 loop
if(temp = '0") then
B(i)<=A(i);
temp:=A(1);
else
B(i)<=not A(1);
temp:='1";
end if;
end loop;
end process;
end;
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